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"®© The len and the breadth of 2
keo—[—ang{e_ iS lieem and go em
respe vely -
@) Find +he area .

(k) Write dhe area h_q sglen-]-:'-f}c i ofation

I and I
:!_ha-urs .

|®@Fina the value of 15x0.02.

B Wride the value above @ in
Sciendifrc mnotation -

@ Round off 5.T6 +o.
@) 131 deci mal .FJdce

() closest whole number

|&D Find the firsl and the Second

ferms of the number pattern which
has the Se.neral ermm aAn- |

G) lohich even nember is w2

() Solve and (orite the answer in
the Simrles& Form -

3.
I

+.L o+ )
3

() Hew much:- is .._85_. of Rs. o ?

4.

@8> find +the perimeter of

Bom

lecm .

C“')_,I 'r the  perimefer of a Square
~is 20¢em, e el
@) Find the length of o side.

| @’? Find +he drea.

(i) Area o»f’ 0- Square (s 6kem® .

wfind the length of a side -

it e s w e

1 cube, find +he dotal surface area
ik o #he cube -




D) Siméli{'}j (‘.%“J;,) 7"%

g@ 1‘}-‘ X2, Y=-3 find +he

value of 22 -y .

@ An rtemn beugh—i at Rs.ace IS gold _
at Rs.ase- '
@> Find jl—:e Pm{’it s

@) Find the IDro-PH pemeniajg.

@®) Ar iem marked Ry. Seo IS sold

with a 47. discount - Pind the Selling
?sicea 3 T §

(is) Sim?h;}’j 18 % 50000 K2

{00

w@s) If the annual interest rofe 15

ry , find an equation for the
interest 1 for an amount of _f_
-Far L year .

1) hed ts the tnterest for &. 30000
for 137/ imerest rate  for 1year 2

z G‘g-) sim?“{‘j Ca -+x> C& . x) .

) F.ihd .ane. ?erirn_e-}cro{? |

ACm

- 5 rh ; e
ats O T R
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Paper ik Madhs
‘Hnswer onlij 03 iues%ions 5 Grade-~ G -
YO Prove +hat the ﬂenero.l ferm of 1,10, 13,16, .... is 3nth. (3w
G Find 4he 17 4erm of this = number pattern - - (8wmarky
)  Which 4erm is 6772 A (3 marks)
(V) Find the Lt 3 terms of dhe patfern GF Sn+y . & marks)
¢ %’a)wrl'-a‘c +he answer in -the SimF]esi' Porrn

(%_ “%) T {_%. . i {(Bmarke )

@ H man Spends 2 of his Salary for 'Foac’,_g;. for clothing and,

'}f fer +m.-ve|ith\jﬂ7= Thern the rest of the salars Which is !?s'.l'ooo)
bhe dePosi+s it ot o bank - ;
@?)-‘?&rn the _Frafz-i-forxs he 3?80% »For food, _c:loﬂ-»ihs and| ’}mue[lieﬁ

as a Sirg\e ’Pmc-é_iovw- | (3mqe"K93
@ Turn -the amount he de_r:__osi"}s af the bans as a fraction (amare
(vy Find his dotal s_ala_r3 .  amarks) ‘ | .
C?a)(i'.) F]n electric ifron hasg its Cost lor_f_ce at Es.. 900. When ialgiam-)_‘

Sold | the s_lnof.a Reeper Cloims lc% Pra'F:‘-i—. Find 4hhe Sellcnj price.
GO 8n  item bought at Rs.koo is sold at @480 . Find the profi
percentage - | (2 maskeD
(i) when a vradio is sold at Rs. h8oo _ 4he Sino‘o ﬁeePer
Se'f s a0 Pro-f\:'_-!— of QOZ.- _ °. (ohat was the price the
Slno‘o Heeroer bou.jh-i- i+ at. 2 4 (,gmark‘:aﬂ
D> The marfied price of an item is Rs.28 coo - A+ the point

ef selling, & 2l discount is offered . Dhat is the Se[[s'!’zﬁ
price 2 ; ' _ (3 marks )

@O@)Nirnql borrowed Rs. 1500 and paid back Rs.g2c0 ancl
redeemed himse(‘r Frem the loan. What was the in%-erer\‘hhe :
a2 e e (@ eris

@@ ijee% - deposits . Rs.80 000 ot a bank which poys 157 interest
per year . (Dhat is the +otal ameurt Pmae.e‘l’h, gets - at the
end —of Ragyears? il

Gid Ks. 2S00 has 46 be paid Lor Rs. 12 500, as the interest
for 1year. Wwhat is the interest rates G works)



GX> x=2, y=CD ,find the value of +he be |oo
€x¢ pressiens - :
@ 3x 42y tS B> Bxy - ay
G 55"“?\-“% the f:(‘.PI’E’S%EOhS" |
@> Cx+3) (ax+i) (> (x-2) (x-3) -
> Ca+2) Ca-5) @3 Ca+3) (8-2) (:;m?g (> mayiks )

: {'

(> Ff‘ind +he value o%“ ® in eadh 'c;;&;cgas-am_-

@

[w]
ins V20

i .
AB and DC are S’tmﬁﬂ It lineg - AB. s a Si‘rmﬁh‘t line.
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